
RIG.ID SHANK ASSY PRE 19.8.2 
1.2.3. 5/8'' 1/2 nut bolt & washer 

4. clamp •·. ·

plate.
002-3003

#5 

Adaptor 
122-3003

............... 5 #3 Carrier 
103-0003

Knock in 
------..shank 

121-1004 

8.6A blade

122-0062

PAGE 1. 



120-015 RIGID SHANK ASSEMBLY PRE.1982

ITEM# DESCRIPTION QTY PART No.

RIGID SHANK ASSY

PRE 1982 120-0015

1 HALF NUTS 5/8" UNF. 4 134-1010

2 WASHER FLAT 5/8" 4 135-0080

3 BOLT 5/8" X 2" UNF 4 133-2010

4 CLAMP PLATE 1 002-3003

5 # 3.  SHANK CARRIER 1 103-0003

6 24" SHANK (KNOCK IN STYLE) 1 121-1004

7 #5 ADAPTOR 1 122-3003

8 6A BLADE TUNGSTEN TIPPED 1 122-0062

OPTIONAL BLADES

6A  HARDFACED BLADE 1 122-0061

6A BLADE PLAIN 1 122-2029

#2 ADAPTOR (converts to the AP3 1 122-2018

AP 3 BLADE PLAIN 1 122-2001

AP 3 BLADE TUNGSTEN TIPPED 1 122-0033

AP 3 BLADE HARDFACED 1 122-0035

OPTIONAL SHANKS

21" KNOCK IN TYPE 1 121-1001

27" KNOCK IN TYPE 1 121-1002

ACCESSORIES

****** WELD ON REPAIR BASE 1 121-2005

****** Convert shank to the AP3 blades

SHANK REPAIR RIB (rear of shank) 1 111-3013

MULCH BLADE ASSEMBLY ASSY 123-0001

AGROWPLOW PARTS PAGE 1.



120-015 RIGID SHANK ASSEMBLY PRE.1982

AGROWPLOW PARTS PAGE 1.


	120-015 Pre 1982 Rigid Shank Pic 
	120-015 Rigid Shank Assy Pre 82 Parts List

